SC1

Definition: SC1 Assessment Period — Existing SC1 rolling 3 months

1.1 The Incentive Amount payable in relation to SC1 in respect of the SC1 Assessment Period shall be
calculated using the following formula. The Provider shall provide any further information as the
Authority may reasonably require in relation to the calculation:

Formula:

Incentive Amount = QIT * QIB

Where:

QIT = Quality Incentive Total (as defined in paragraph 1.2 below)

QIB = Quality Incentive Banding (as set out in the third column of the table in paragraph 1.3 below)

1.2 The Quality Incentive Total will be a (R) margin on the Total Monthly Invoice over the SC1 Assessment
Period and is the total potential value of the Incentive Amount linked to performance in relation to
SC1 prior to any deductions to take account of the Performance (“AP”) delivered in the period (as
such Performance is calculated under paragraph 5A.2.3 of Appendix 4 (Prices and Rates) of the
Contract, but with such amendments as are necessary to reflect the application of the SC1
Assessment Period in place of the Assessment Period (which would otherwise apply under such
paragraph 5A.2.3)).

1.3 In order to calculate the Quality Incentive Banding , the Performance shall be categorised into one of
six(6) tranches and adjusted using the following table.

Where the AP goes to four (4) or more decimal places, the AP of the calculation shall be rounded to
the nearest three (3) decimal places and where the third or more decimal places is a value of five (5),
the result shall be rounded up):
AP Calculation Quality Incentive Banding
Tranche 1: 0.00 < AP <£0.03 Full amount of the Quality Incentive | 100%
Total
Tranche 2: 0.0305 <AP <0.0334 | Quality Incentive Total x Quality A=95%
Incentive Banding A
Tranche 3: 0.0335 < AP <£0.0364 | Quality Incentive Total x Quality B=87.5%
Incentive Banding B
Tranche 4: 0.0365 < AP <£0.0394 | Quality Incentive Total x Quality C=65%
Incentive Banding C
Tranche 5: 0.0395 < AP £0.0424 | Quality Incentive Total x Quality D =50%
Incentive Banding D
Tranche 6: 0.0425 < AP £0.0454 | Quality Incentive Total x Quality E=25%
Incentive Banding E
Tranche 7: AP > 0.0455 Quality Incentive Total x Quality F=0%
Incentive Banding F




1.4 Paragraphs 1.1 to 1.3 shall be interpreted and applied in accordance with the following worked

example.

Worked Example:

(1) Worked example for illustrative purposes only

SC1 Assessment Period

REDACTED

Month 1 Month 2 Month 3
(Nov 20) (Dec 20) (Jan 20)
Total Reports 20,000 20,000 20,000
AP Total 20,000 + 20,000 + 20000
Reports - 60,000 AP Total Reports
Reports 490 490 490
Sampled
Unacceptable 10 22 19
Reports
Reports 490 + 490 + 490
Sampled = 1470 Reports sampled
AP 10+22 +19
Unacceptable _
Unacceptable =51 AP Unacceptable Reports
Reports (para
5A.2.3)
Aggregated 51 /1470
Performance - 0.0347
Total Monthly £10,000,000
Invoice (£)
Quality (REDACTED)
Incentive
Total
Quality Tranche 3: 0.0335 < AP <0.0364 87.5%
Incentive
Banding
Incentive
Calculation

TOTAL Incentive Amount (SC1) (REDACTED)




